4 VCE & PDF https://lwww.geekcert.com/4a0-103.html
' 2024 Latest geekcert 4A0-103 PDF and VCE dumps Download
2 GeekCert.com

AA0-10398AS

Alcatel-Lucent Multiprotocol Label Switching

Pass Alcatel-Lucent 4A0-103 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/4a0-103.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

4A0-103 VCE Dumps | 4A0-103 Study Guide | 4A0-103 Braindumps 1/4


https://www.geekcert.com/4a0-103.html
https://www.geekcert.com/4a0-103.html
https://www.geekcert.com/4a0-103.html

VCE & PDF https://lwww.geekcert.com/4a0-103.html
2024 Latest geekcert 4A0-103 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Assume that, on the Alcatel-Lucent 7750 SR, an LSP is configured with one-to-one FRR and node protection. Which of
the following statements are FALSE? (Choose two)

A. Each PLR signals a detour LSP that avoids the downstream node. If the downstream node cannot be avoided, a
detour LSP that avoids the downstream link is signaled.

B. The detour LSP can take one or more hops before merging back on the protected LSP.
C. The merge point of the protected LSP must be the next-next-hop node

D. The ingress router will set the local protection desired flag in the session attribute object of the path message to
inform all routers along the protected LSP path to establish detour LSPs.

E. The label recording desired flag must be set in the session attribute object in order for the PLR to know what label to
swap when using the detour LSP.

Correct Answer: CE

QUESTION 2

Which of the following timers can be adjusted to reduce the time a router waits between attempts to reestablish an LSP
after it has failed?

A. Isp retry-timer

B. Isp retry-limit

C. mpls resignal-timer

D. rsvp refresh-time

E. router rsvp keep-multiplier

Correct Answer: A

QUESTION 3

Using facility mode fast reroute, how does the PLR learn the address of the MP?

A. The PLR issues an RSVP PATH message to the tail-end requesting the address of the MP.
B. The PLR learns the address of the MP from the ERO.

C. The PLR learns the address of the MP from the RRO.

D. The PLR learns the address of the MP from the targeted RSVP Hello message.

E. The PLR knows the address of the MP is the same as the tail-end router.
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Correct Answer: C

QUESTION 4

Which of the following is NOT an advantage of MPLS shortcuts for BGP traffic?
A. It makes use of MPLS resiliency features available within an AS.

B. It eliminates double route lookups on all routers within an AS.

C. It eliminates the need to run IGP on all routers within an AS.

D. It eliminates the need for an iBGP full mesh on all core routers.

Correct Answer: C

QUESTION 5

Click on the exhibit.

R7 R8

R6

R3. . RS

Legend

>
LSP “toR6” primary FRR path
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A fully loose LSP MtoR6" is enabled with FRR protection. All links have the same cost. After the link between R2 and
R4 goes down, FRR protection repairs the LSP and traffic traverses on R1-R2-R7-R8-R4R6. By default, which of the
following about this LSP on an Alcatel-Lucent 7750 SR is FALSE?

A. The LSP will switch to R1-R3-R5-R6 after the resignal timer expires.

B. The old primary path and its detours are torn down after the new primary path is established.

C. CSPF must be enabled to find a more optimal path.

D. The traffic is switched to R1-R3-R5-R6 in an MBB fashion.

Correct Answer: A
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